19

22
19
44 0Omx 8.0mx 2 [/ x 3.0mx 2 / x 2
10.5m 3.0m HWL 7.5m
19
900,000m3/ x 1.04 = 936,000 m3/
22
44 0Omx 8.0mx 2 [/ x 3.0mx 2 / x 1
10.5m 3.0m HWL 7.5m
1,300,000m3/ x 1.04 93,000m3/ x 1.02
= 1,446,860 m3/
13.0 12.6
min
i 230.8 237.9
mm/min
5.6 5.8
cm/s




19
19.30mx 10.20mx

22
26.70mx  10.20mx

19
936,000 m3/
5_.6ton- ds/

22
1,446,860 m3/
8.7ton- ds/

1.3mx 8

1.3mx 4

x 20
x 365

x 20
x 365

20

x 2.0x 0.15x 106

=2,044.0ton-ds

x 2.0x 0.15x 10-6
=3,175.5ton-ds

5.6ton- ds/

8.7ton- ds/



